GUT TIME CALCULATOR

The following chart will help you determine how long a cut will take by
cross referencing the bar size to be cut with the removal rate being used.

Removal Rate - Square Inches Per Minute

Minutes Per Cu
100 {079 .79 | 39 | 26 | 20 | 16| 13| .11 | 10| .09 .08 | .07 | 07| .06 | .06 | .05 | .05 | .05 | .04

1.25 | 1.23 | 1.2 61 41 | .31 25 | .20 | .18 | .15 A4 (12 | .M 10| .09 | 09| .08 | .08 | .07 [ .07

150 | 1.77 | 1.8 .88 | .59 | .44 35| .29 | .25 ] .22 20 18 | .16 | A5 .14 | A3 | 12 11 10 | .10

175 | 241 | 24 1.2 | .80 | .60 48 | 40 | 34 | 30| 27| 24 | 22| 20 19 ( A7 | .16 | .15 ( .14 | 3

2.00 | 3.14 | 3.1 1.6 1.0 | .79 63 | 52| 45 | 39 | 35| .31 29 | .26 | .24 | .22 | .21 .20 | 18 | 17
225 (398 4.0 2.0 1.3 [ 1.0 80| 66 | 57 | 50| .44 .40 | .36 | .33 [ .31 28 | .27 | .25 .23 | .22
250 | 491 | 4.9 2.5 16 | 1.2 1.0 .82 | .70 | .61 55| 49 | 45 | 4 .38 | 35| .33 31 29 | .27

275 | 5.94 | 5.9 30 20| 1.5 1.2 10| 8 | 74| 66 | 59 | 54| 49| 46 | 42 40 | 37 | 35| .33

3.00 | 7.07] 71 3.5 24 | 1.8 14| 12 (10| .88 | .79 | .71 64 ( 59| 54 | 50| .47 | .44 | 42 | .39

3.25 | 830 83 4.1 28 | 2.1 1.7 14 | 1.2 10 92 83 | .75 | 69| .64 | .59 | .55 52 | .49 | 46
3.50 [ 9.62| 9.6 48 | 3.2 | 24 1.9 16 ( 1.4 | 1.2 1.1 10| 87| 80 | .74 | 69| 64 | .60 | .57 | .53
3.75 [11.04({ 11.0 | 5.5 3.7 | 2.8 2.2 18 16 | 1.4 1.2 [ 11 10 92 8 | .79 .74 | 69 | .65 | .61

4.00 |12.57|12.6 | 6.3 | 4.2 | 3.1 25 | 21 1.8 | 1.6 1.4 1.3 1.1 10 10| 90| .84 ( .79 | .74 | .70

4.25 (14.19]14.2 [ 7.1 4.7 | 3.5 28 | 24 | 2.0 1.8 16 | 1.4 1.3 1.2 | 11 1.0 | .95 89 | .83 | .79
450 |15.90[{15.9 | 8.0 | 53 | 4.0 32| 27 | 23 | 20 1.8 ] 1.6 1.4 | 1.3 | 1.2 1.1 1.1 1.0 [ .94 | .88
4.75 (17.72]117.7 | 89 | 59 | 44 35| 3.0 25| 22 20| 1.8 16 [ 1.5 14 1.3 | 1.2 1.1 1.0 | 1.0
5.00 (19.64| 196 | 9.8 | 6.5 | 4.9 39 | 33| 28| 25 22 ( 20 1.8 16 | 1.5 1.4 | 13 1.2 ] 1.2 1.1
5.25 [21.65(216 | 108 7.2 | 54 43 | 3.6 | 3.1 2.7 24| 22 | 20 | 1.8 1.7 15| 1.4 14| 13 1.2

5.50 (23.76/238 | 119 79 | 59 | 48 | 40 | 34 | 30| 26| 24 ( 22 | 20| 1.8 ( 1.7 | 1.6 15( 14 | 13

5.75 |25.97(26.0 | 13.0 | 8.7 | 6.5 52 | 43| 3.7 | 3.2 29| 26 | 24 | 22 | 2.0 19 | 1.7 16 | 1.5 1.4

6.00 (28.27|28.3 | 141 94 | 7.1 57| 47 | 40 | 35| 31| 28 | 26 | 24 | 22 ( 20| 19 | 18 | 1.7 | 1.6

6.25 |30.68( 30.7 | 153 ( 10.2| 7.7 6.1 51| 44 | 38 | 34| 3.1 28 | 26 | 24 | 22| 20 19 | 1.8 | 1.7

6.50 [33.18(33.2 |16.6 | 11.1] 8.3 66 | 55| 47 | 41 37| 33| 30| 28 26 | 24 | 22 | 21 20 | 1.8

6.75 (35.78/35.8 [ 179 11.9| 8.9 72 | 6.0 | 5.1 45| 40| 36 | 33 | 3.0 | 28 | 26 | 24 | 2.2 | 21 2.0

7.00 |38.48(38.5|19.2( 12.8] 9.6 77 | 64 | 55| 48 | 43 38 | 35| 3.2 | 3.0 27| 26 | 24 | 23 | 2.1
7.25 (41.28/41.3 | 206 ( 13.8|103 | 83 | 6.9 | 59 [ 52 | 46 | 4.1 38 34 32| 29| 28| 26 | 24 (| 23
7.50 |44.18(44.2 | 221|147 110 88 | 74 ( 63 | 55| 49 44 | 40 | 3.7 | 34 | 32| 29 ( 28 | 26 | 25

7.75 (4717|472 | 236 (157|118 94 | 79 | 67 | 59 | 52| 47 | 43 | 39| 3.6 | 3.4 | 3.1 29 | 28 | 26

8.00 |50.27( 50.3 | 25.1| 16.8| 126 ( 10.1| 84 | 7.2 | 6.3 56 | 50 | 46 | 42 39| 3.6 | 3.4 | 3.1 3.0 | 28
8.25 (53.46|53.5|26.7(178|13.4|107| 89 | 76 | 67 | 59| 53 ( 49 | 45 | 4.1 38| 3.6 | 33 | 3.1 3.0
8.50 |56.75(56.7 | 28.4 | 189|142 ( 11.3]| 9.5 [ 8.1 7.1 63| 57 | 52| 47 | 44 | 41 38 | 35| 33 | 3.2
8.75 (60.13| 60.1 | 30.1 ( 20.0| 15.0 | 12.0| 10.0| 8.6 | 7.5 67| 60| 55| 50 46 | 43| 40 | 3.8 | 35| 33
9.00 |63.62|63.6 | 31.8 | 21.2| 159 ( 12.7 ]| 10.6 [ 9.1 8.0 71| 64 | 58| 53| 49| 45| 42 | 40| 3.7 | 35

9.25 (67.20|67.2 | 336 ( 224|168 | 134 11.2| 96 | 84 | 75 | 6.7 | 6.1 56 | 52 48| 45| 42 40 | 3.7

9.50 |70.88(70.9 | 354 | 23.6|17.7 | 142 | 11.8 10.1 | 8.9 79 | 71 64 | 59| 55| 51| 47 | 44 | 42 | 3.9

9.75 (74.66|74.7 | 373 ( 249|187 | 149| 124|107 93 | 83 75 | 68 | 62 | 57 | 53 | 5.0 | 47 | 44 | 41

10.00 (78.54( 78.5 | 39.3 | 26.2| 19.6 | 15.7 | 13.1( 11.2| 9.8 87| 7.9 7.1 6.5 6.0 56 | 5.2 49 | 4.6 4.4
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To find the area of bars larger than 10" diameter use the formula “m(3.14) x radius?”. Take half the diameter (radius) multiply it
by itself. Then multiply that by 3.14. Example: 20" bar. Half the diameter is 10”. 10 x 10 = 100. 100 x 3.14 = 314 square inches.
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